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CARD #2, SIIX 1

CARD #2, SIIR 2

EXTENDED PRECISION

SIN or COS (105-PLacEe)
SEE INSTRUCTIONS AND CARD 1 PROGRAM ON PAGE 26

65 NOTES, V3NIOP3l, gave & very good table of values for SIN X
and COS X, carried out to 30 places., V¥ith this progrem I have re-
vised it to a 105-place table. Since I do not have any printed
tables available by which I can check my results, it was necessary
to devise a msans of checking the accuracy of my program.

Of course SIN 30° equals .5, the square of SIN 45° equals .5,
and the square of SIN 60° equals ,75. Vhen the progrem gave these
results to 105 pleces, I was reasonsbly sure it wes working O.K.
Howsver, to be sure, I sguared every result obtained for my table
of SIN or COS (l05-place) and made another table of SQUAFRES OF SIN
AND CO5 (105-place). I pleced SIN® and cos? side by side for each
angle calculated. It is obvious from this teble that X plus
COS2 X equals 1.0000000...(to 105 places)...00000.

I expect someone to say "Why didn't you program it to work TAN
also. Just remember that TAN equels SIN/COS. So all you need to
do is write your own program to divide a 10S-plece number by another
105-place number, and there you have it. Ron Knapp (618)

EXTENDED PRECISION SQUARES
(Up To 230D sauaReD EQUALS 460D)

There are an abundance of programs for extended precision
squares, One program is for 20D squared to 40D, another for
4OD squared to 80D, and another for 70D squared to 140D. Then
there is a program for 100D squared to 100D, Why then, do I sub-
mit yet another program for asquares?

The answer is simple. Versatility! This progrem will cal-
culate the square of any number up to 230D. The run-time is in
proportion to the size of the input. In additiaon, you have the
choice of the exact square carried out completely, or the aquare
of an approximetion, carried out to the same mumber of digits as
the input. Best of sll, the run-time compares very fevorably with
any of the other programs which ere made for just one size input.
For example, the table below gives approximate times for various
size of input:

Size Exact Approx.

Ioput Square Square

10D 20 Sec. 20 Sec.

20D 1 Min. 40 Sec. -
30D 2 Min. 1 Min. ~N
50D 3 2 » w
50D ko 3 ]
60D 6 y a
70D 8 » 5 - >
8op w0 6 - S
90D 13 * " =
100D 16 g * =
110D 19 * 104 * g
120D 2 - 12 - =
130D 26 * i o
140D 3a 16 - w
150D 34 " 8 3
160D 38 - 20 *

170D 43 ° 23 *

180D 48 v 26 *

150D 53 * 29 *

200D 29 * 32 _*

210D 65 * 35 *

220D 71 . k-

230D 7 P

Submitted by Roo Knapp, 618 [R/S]
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CONTEST?

I'd like to propose a contest that's a little different
from your normal run of the mill contest; Write an 'INTERVIEW"
with the 67 (or 97} that has you asking it questions and it
answering with nnns. To simplify things and get more people in-
volved, there will be no need to actually write the program or
the nnns but they must be the standard nnns that the 67(97) can
do in the display. This leaves out: mynyv,x,f,h, j,k,psu,w,q
and maybe more. The object of the interview will be humour,You,
the interviewer'will ask some strange questions and make some
funny comments (in your opinion) and get some GOOD answeres,
Example:

"1 understand that you forgot what
that true?® 67 answeres YES .

"So the best man prompted you with
"And you did?" 67- YES.I dId

“What was your wife's name again?"
"I can see why that didn't last."
"What did she say to you that made

to say at your wedding, is
what?" 67-SAY.I do

67—~ Sr.5%2

you propose?” 67-1.d BE BOSS
That's the general idea. It could be a lot of fun for you and

the rest of us that end up reading whatever you come up with.
Maybe Richard can provide a PRIZE??? a booby prize? zip? [1926] CEZE]
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